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The Net Income approach was suggested by

a. Modigliani and Miller b. Ezra Solomon

¢. Durand d. Walter

Capital structure denotes the

a. Capital mix b. Financing mix

¢. Equity mix d. Debt mix

Which of the following is irrelevant for optimal capital siructure?

a. Flexibility b. Solvency

¢. Liquidity d. Control

A stable dividend policy refers to

a. The consistency or lack of variability b. Same dividend to be paid every vear
in the stream of dividends

¢. Shareholder’s wishes regarding, d. None of the above
dividends

If the shareholders prefer regular income, how does it affect the dividend decision:

a. Ithas no impact on divided decision b. Itis the indicator to retain more

earnings
¢. Itwill lead to payment dividend d. Can’tsay

According to Prof. Walter, If r>k i.e., if the firm earns a higher rate of return on its
investment than the required rate of return, the firm should ..............

a. Retain the earnings b. Distribute its earnings

¢. Partially distribute its earnings d. Partially distribute its earnings
............... dividend means the issue of bonus shares to the existing shareholder.
a. Cash b. Stock

¢ Scrip d. Property

The working capital management refers to the managementof ..................

a. Current and fixed assets b. Fixed assets and current liabilities
¢. Current assets and current liabilities d. Fixed and current liabilities

Nel working capital is the excess of current assets over
a. total liabilities b. current liabilities
¢. intangible liabilities d. None of the above

Increasing the credit period from 30 to 60 days, in response to a similar action taken by
all of our competitors, would likely result in:

a. anincrease in the average collection b. a decrease in bad debt losses

period
€. an increase in sales d. higher profits
B ety i 2455 s e motive refers to the tendency of a firm to hold cash, to
meet the contingencies or unforeseen circumstances arising in the course of business.
a. Transaction b. Precautionary
¢ Speculative Motive d. Compensating Motive
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Time : 2 Hr. 30 Mins.

[ Answer question no.1 & any four (4) from the rest]
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taplain the objectives of financial management.

Marks : 50

10

What is capital budgeting? Discuss the need and importance of capital 2+8=10

budgeting.

What do you understand by dividend policy? Explain briefly the
various factors which influence the dividend decision of a firm.

2+8=10

What do you mean by receivables? Discuss the factors which influence 2+8=10
the size of receivables.

A company is currently paying a dividend of Rs. 4.24 per share. The 10
dividend is expected to grow at a 18% annual rate for five years and
then at 12% for ever. What is the present value of the share, if the
capitalization rate is 14%?

The following is the capital structure of Moon Lid.:

Source of capital

Rs.

Equity Share - 20,000 shares of Rs. 100 each

20,00,000

10% Preference Shares of Rs. 100 each

8,00,000

12% Debenture

12,00,000

40,00,000

The market price of the company’s share is Rs. 110 and it is expected
that a dividend of Rs. 10 per share would be declared after 1 year. The
dividend growth rate is 6%. If the company is in the 50% tax bracket,
compute the weighted average cost of capital.

From the following information calculate the net present value of the
two projects and suggest which of the two projects should be accepted

assuming a discount rate of 10%.

Project X

Project Y

Initial Investment

Rs.30,000

Rs.40,000

Estimated Life

5 years

5 years

Scrap Value

Rs.1,000

Rs.1,000

31

10

5+5=10

USTM/COE/R-01

- =



riod allov

holding 1n t

contingencie:




